000 15-10 000 000000 00000000 000 00000 00 0000000 00 000000 00000 0000000 0o00o0a 316 000

# (0000000 d000dood odood -

o0 DO000. SF-50

0000 304/316 SS

goo0o (0000 00030 * 50 000 0 00 12 * 50 0000 0 00 50 000 M12* 120
00000 00000 000 / 000000 000

aod 1 0000 0000

# (0000000 00000000 Coo / 0ood -
Q00000d-




(000000 00 00000000

000000 DO0000 Donoodood dooo boooo-




Electroplated Black Finish Glass Standoff

# (0000000 O0O0Pooo 0oood 0o 0ooodo -



= SF-30

= SF-40 = AISI304
= SF-50 = AISI316
= SF-50A

= AIS| 304
SF-362Z |, AISI 316

= AIS| 304
sl [ AlSI 316

# 00000000 DO0000 00000 0od -

Part No. Material

Part No. Material

Part No. | Material

Finish

= Satin
= Mirror

Finish

= Satin
= Mirror

Finish

= Satin
= Mirror

Body

= 30x10; 30x25mm

= 40%10; 40¢30mm

= 50x12: 50x30mm

= 50x12: 50x50mm

= silicon rubber gasket
included

Body

= hollow type

= 38x7.5:38x38mm

= silicon rubber
gasket included

Body

® 50x10;50x30mm
= silicon rubber
gasket included

Boll size

= M10x120 bolt

= M10x72 wood screw
= MEx100 bolt

= ME x72 wood screw

Bolt size

= M8x70 hexagonal
screw

Mounting plale size

= 200x100x10mm










# (0000 QOO0 Q0 OO0 0ooo boooo bodoooo oo boooo -












